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Chapter: Three

Retirement of Partners-

Introduction-IfR=g
U TR 3Tt Retirement-@aﬂ%@ﬁ[ Y[ Death-HJ UX Uch TIPeR el 38T § 3R 3 e,

Jagd a1 Jdd AR & ard B AT DY HH GRT 4 {01 ST 811 8 | HH I AeieR &
@EIT'%IQT'T & T FofaRad TEmg S §f The following problems arise on retirement or

death of a partner.

(1) Determination of New profit sharing ratio- ¢ ¢TH Ul B & STTUTd T YUdT <],
(2) Determining Gaining Ratio-3{TIgUT 3JUTd T Udl A,
(3) Treatment of Goodwill- B 1 FUAR,

)

(4) Adjustment for Assets and liabilities on Revaluation-Haftrdl 3R eIl & WW &
[NESEIRISE

(5) Adjustment for unrecorded assets and liabilities-TARId Wufwal 3R Gemal & fag
THTIH-

(6) Adjustment for Accumulated profit and loss and-Hfd Y / BT & A&y § gHIeH,
(7) Method of payment to the retiring partner—@laﬁ%@?[ gl Hdd HISIER Bl HITdIH & IRIb

JATGRT (Retirement) AT GG (Death) P ARG TR TG (Retired) T Hdd (Deceased)
TSGR $T aral 39! Yoil, TR, Tferd ard a1 g1, SUD! S5, IaH orH a1 g1+ | TRiaR],
3R GHegih Ay a1 g1 B FReR! & STuR W iR faar siar g

Udh UIIGR o YR o [qudid, 3 U 9refl o Har-ghi a1 g R AV & o1y ST Surd i
TUHT 31 U3l § adifeh Jar-igd a1 gaob areft & a1y o1 few A9 ieR! gR1 o foran S g
SRIGT THR § ¥ Ude R FHfiRad sy & 7<i o1 15 51

2.1 Determination of New profit sharing ratio- 1€ ¢ITH UT g & SIUTd BT UdT GITHT

U AT T 1A & §CdR & SIIUTd ! 0T HaTi-ghi a1 §g o A § St S A1, Hifds
TIRAER 3T A1 & foTe Jarfgd o1 Jas AR & TR &1 6 3w g1RId HRd & | Tdd AW
Tft &1 =7 AT 1 BT I A BT SgaTd BH H aTH & 30 R R SR Farfgd a1 gas
HIRIGR & oTH & 3R BT Sl TN SRIeR GBIl g il I 3ol foman oirelt 71 38 FargaR
IR0 &% FU N Fad foan ST gl 5|




New Profit sharing Ratio = Old share + Acquired share

TT Y ATHTHROT SUTd = YRIT T + 3ol fea

Example 1. A, B and C are partners in a firm sharing profits in the ratio of 1/2,1/3 and 1/6
respectively. B retires from business. Calculate the new profit sharing ratio of A and C.

A, B3R CHH:1/2,1/3 3R 1/6 & U H U BH & T § URIER & | B STI9T J
Jaga BT 81 A 3R C & T ATY TTHTHRUT ST b} T B |

Solution.

Partners old ratiois1/2:1/3:1/6 OR 3/6:2/6 :1/6

Now B's share can be deleted and the new profit-sharing ratio of the remaining partners A
and C will be 3/6 :1/6. So, New Profit sharing Ratio of A and Cis 3:1 or 3 : s,

Note:

It is easy to understand that here A and C have acquired B's share in the same proportion in
which they were sharing profits i.e. in the ratio of 3:1 which can be verified by deducting the
old ratio from the new one as under.

g U M & o T8t A 3R ¢ 7 I 3rgurd & B &1 fgwan g1yt foparn &, fored @ @y e
PR e A TN 3:1 & U H, FS U a7 ¥ RA 3HUTd & T G B JAUd [T ST
qhdl 3

(A's Acquisition) A &1 UGN = 3/4 - 1/2 = 3/4 - 2/4 = 1/4

(B's Acquisition) B &1 Sf&UGU = 1/4 - 1/6 = 3/12 - 2/12 = 1/12

3: A 3R C &1 TGN 3UT = 1/4:1/12 =4/12: 1/12 = 4:1
Example 2.

A, B, and C are partners sharing profits in the ratio of 1/2,1/3 and 1/6 respectively. B retires from
business. A and C agree to acquire the retiring partner's share of profit in equal ratio. Calculate the
new profit-sharing ratio of A and C.

Solution.

Partner A and B acquired one half of the B’s share of profit which is, 1/2 x 1/3 = 1/6
So, the new profit-sharing ratio of A and C will be:

A = Old share + acquired share = 1/2 + 1/6 = 4/6 or 2/3

C = Old share + acquired share = 1/6 + 1/6 = 2/6 or 1/3

Hence, new profit-sharing ratio of A and C will be 2:1.

2.2 YTWITUId-Gaining Ratio



o aRe g1 U U It & YA & A H T P 30T ! TUHT IR §, 99 g g1 arefi i
JaTAgi a1 §g & JHT ATH YT 1 IO B gt |

YTt SUTd U Y 1l o AT S{UTd D1 TTUET Y ob IR 388 ol a1y & - iR 9 gerax
?Tﬂeﬂ%l%@m@mﬁ%mqamﬁ%wn%%@m%m@m%ﬁﬁmwmw
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e Haa a1t ot Jargia a1 gy, Uy H 918 T8 ©, A T8 A & SR & U a1 39
3T B $3 ot et o e B Fora® W WISIGRY A a1eR o ara wrft 3 3 &1 SifieR v
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Example 3.

A, B and C are partners sharing profits in the ratio of 4/10, 3/10, 3/10 respectively. C retires
from the business. A and B decide to share future profits equally. Calculate the gaining ratio
of A and B.

Solution.

Gaining Ratio of A = New Ratio - Old Ratio
=1/2-4/10=1/10

Gaining Ratio of B = New Ratio - Old Ratio
=1/2-3/10=2/10

Hence, gaining ratio of A and Bis1/10:2/10or1: 2.

1) X, Y and Z are partners in a firm sharing profits in the ratio of 3:2:1, respectively. X retires
from business. The remaining partners B and C decide to share profits equally in future.
Calculate gaining ratio.

2) P, Q, R and S are partners sharing profits in the ratio of 7:6:4:3-respectively. S retires from
business and the remaining partners A, B and C decide to share future profits equally.
Calculate gaining ratio.

3) A, B and C are partners sharing profits and losses in the ratio of 5:3:2. B retires. His share
has been taken by A and C in the ratio of 2:1. Calculate new profit-sharing ratio.

9.3 Treatment of Goodwill- SITd BT JUANR,

o Ueh Freft FRerR 8T & I WR o1l & oY 98 BH § & BA1fa & 30 i BT gher giarg | BH
aﬁwﬁrﬁ@aﬁﬁ -Retiring T Hdd-Deceased 3T &1 Udl TRTH & oL, 8H Ugd Goodwill &
U Ged &1 Gl T I iR, S SR W, HaT-gd a1 gadb 9l & il Goodwill &
feRER} B UM B Sl 8 1 BT, TRATh SUIR 39 &1d W AR 3 i 1 Goodwill
Ugd ¥ 81 Balance Sheet & HIN[G ¢ 1 81| 39 PR, & UGS § |



1. When there is no goodwill appears the in books (Balance Sheet). SId Goodwill Balance
sheet & =751 g1 |
2. When there is goodwill in books (Balance Sheet). SIdl ﬂ?aﬁﬁ g balance sheet o ﬁ'\_ﬂﬁ

gl

A. When there is no goodwill appearing in the books.
SIS goodwill B &1 GEh! H fiepat +f Tehe 71 g1l 8, o =fa & ey & forw
e UIéR a1 Deceased UIER 1 3TaxaS 47 17 fewdq 37 & faftrd aies & |

(i) gfe Goodwill DI SHD UR He I Sog e W]%?TITGH'Q— Goodwill is raised

with full value and shown in books.

Tt fRUfT & TRIER 98 00 IR Adhd 8 1 goodwill T $HP X Hed & AT TR oY 3R 34
T &1 GIeh] H ST 3T Y 139 fRUTA &, Goodwill /A & IR Jed & 1Y Sfae fhar Jrar g
\ﬁ?ﬂﬂ-ﬁ W%WW@WWW%I The Journal Entry is-

Goodwill Account-Dr.
To Partners’ Capital A/c
Being Goodwill raised account raised in in old ratio
(i) ST Goodwill B 3P TR Ted J 90y Xiie & TR forall ST 3iR 39 QR @ B fed
WITU-Goodwill is raised with full value and then immediately written off.
Retired TT deceased I1ft &1 I %ﬁ%ﬁﬂ goodwill account W%W, YNGR
U T forem &1 el % Uohd & | 39 RUMA H, 89 goodwill account () & S SgTET

3R iR QY ArPERT & Yoit WA Y 3% T ATH & s & Jurd A Sfie e ford
3R goodwill aﬁuﬁ&w%m&%@zmml The Journal Entry is-

(@) Partners’ Capital Account- Dr.
To Goodwill A/c

(Goodwill raised written of in remaining partners in new ratio)

b) All Partners’ Capital Account- Dr.
To Goodwill A/c

(Goodwill raised written of in remaining partners in new ratio)

(iii) T Goodwill Fad MU R F TIY TG ST S JAfgd a1 Gawardt & e g 3R
U QLA AV YIGRT §RT 3 Y SUTd T HR a1 |
When goodwill is raised only with the proportionate amount payable to the retiring

partner or deceased partner and immediately written off by the remaining partners in their
gaining ratio.




T RURT &, Goodwill A/c P Sfae fara ST 8 3R Yarf-ga a1 gask UFiieR & Yol @rd &
Goodwill @ AT MR BT 47 {301 91T 81 S d1e AW YNGR & WA B 370 aTH
S{JUId ﬁ%’fﬁ?mw% 3R Goodwill TTd &Y Creditﬁ?&lT\_ﬂ'faT%l For this, the Journal

Entry is-
a) Goodwill Account-Dr.
To Retiring or Deceased Partner Capital A/c

(Being Goodwill raised account raised with proportionate amount only).

b) Gaining Partners' Capital, A/c Dr.
To Goodwill A/c

(being goodwill a/c written of in remaining partners in gaining ratio)

iv) If no goodwill is raised in the books of the firm- e ®H &1 @I B BIs Goodwill TaT
ST oiTu-
9 UFIGR B8 & WTd H goodwill BT 8! SgM SR 0= Uoit Wra & A1y ¥ i wamifod

HRA &1 A0 HRag, O YaTfgd a1 gae HFTeR & Yolt WTd & S8 MR Y Goodwill & 5 &
Credit fopar Srdr % |For this, the Journal Entry is-

Gaining Partners’ Capital A/c
To Retiring or Deceased Partner Capital A/c

(being outgoing partner' goodwill adjusted through gaining partners' capital a/c)

B) When there is goodwill in the Balance Sheet-
W4 Balance Sheet H Goodwill SUfRId 11

g WA § fb Goodwill T8 I g1 oot =iie & fean g1 39 Rufa &, wnht oot Sarghy a1 gg
goodwill & ey T gARISH goodwill & present value 3R goodwill & book value I & &g
3R I TfErd gt o | Uit fRUFAT &, W1 H goodwill HT SUER JaHTHS Jod R AR #ar g
Oef} Rufr #, T FuraTe 8 wect 3

i) I Goodwill FT Book Value TcH HeO-Present Value JFAT;
ii) i Goodwill FT Book Value TcH HeU-Present Value ¥ 31fi §; 3R
iif) & Goodwill BT Book Value 3R Present Value SH gal 5 |



i) !T% Goodwill BT Book Value TaHT HeY-Present Value A HH %;

T fRUTA &, Goodwill B book value & TTHM Hed B 31fe RN F Goodwill WTd & Sfae
TP JAAH Hed TR ISMT S SR TIRIER] & TR A1y A1eeRor Surd & Ift yrfieri &
qy?ﬂ WA &I Credit faa1 SITdm %I For this, the Journal Entry is-

Goodwill A/c Dr.
To All Partners' Capital A/c

(Being goodwill raised to its present value or excess of present value over book value)

Example 4

A, B and C are partners, sharing profits and losses in the ratio of 2:1:1. The goodwill is
appearing in the balance sheet at Rs. 20,000. C retires and on that date the goodwill is valued
at Rs. 30,000. Pass necessary journal entry.

Solution. The present value on c's retirement is Rs.30,000 and book value is only Rs.20,0000.
The excess of present value over the book value is only Rs10,000. The Journal entry is-

Goodwill A/c Dr. Rs. 10,000

To A's Capital A/c.................5,000
To B's Capital A/c.................2,500
To C's Capital A/c.................2,500

(being goodwill account raised from 20,000 to 30,000)

ii) ‘Tﬁ' Goodwill BT Book Value TdHTH Hed-Present Value J i %

29 fRUTA T, Book Value 3R Present Value % &9 & 3{dR &I Goodwill a /c T Credit foar
STE 3R wt yrieRT & goft Erdl # S QR AT A6 S0Td & Sfae fasar S|
For this, the Journal Entry is-
To All Partners' Capital A/c Dr.
Goodwill A/c

(Being decrease in the value of goodwill from the book value to present value)

Example 5.

A, B and C are partners, sharing profits and losses in the ratio of 2:1:1. The goodwill is
appearing in the balance sheet at Rs. 36,000. C retires and on that date the goodwill is valued
at Rs. 30,000. Pass necessary journal entry.

Solution.

The present value on c's retirement is Rs.30,000 and book value is only Rs.20,000. The excess
book value over the present value is Rs. 6,000. The Journal entry is-



A's Capital A/cDr. ........... 3,000

B's Capital A/c Dr............. 1,500
C's Capital A/cDr............. 1,500
To Goodwill A/ ¢ ~---------m-—- Rs. 6,000

(being decrease in goodwill account adjusted 36,000 to 30,000)

iii) '!T% Goodwill T Book Value G'ﬁ? Present Value HHIH Ygdl %I

e Book Value 3R Present Value & 19 aﬁé 3R :ﬁﬁ %, @ Goodwill & oy A ﬁg U
Uiy 3 B Al el gl gl

39 a7 fop Tt fRUF H Goodwill B $8% 90 I R ooy e d fe@mn gl

3R, 3YP Fae[e, HRMGRI §RT Goodwill 1 U1 oRE AT SHifRIh U & Fad d- o1 iy feran
ST ], O QW URTIRY & USit WTd 1 1T 3iurd H Sfee far e 8iR Goodwill |Id &Y
Hafd Ged & 1Y ST Credit fobdm ST

4) Adjustment for revaluation of assets and re-assessment of liabilities
on retirement or death:

As on the date of retirement or death of a partner, all assets and liabilities of the firm have to
be revalued and any profit or loss arising from revaluation is adjusted in all the partners'
capital accounts including the retiring or deceased partner in their old profit-sharing ratio.

For the purpose of revaluation of, assets and liabilities a Revaluation Account is opened and
all appreciations(increase) and depreciations (decrease) in the values of assets and liabilities
should be recorded in this account.

Similarly, if there is an increase in the value of an asset, such asset should be debited and
Revaluation Account is credited with the amount of appreciation. Conversely, if there is a,
decrease in the value of asset, Revaluation Account is debited and the related assets account
is credited.

(i) The Journal Entry to record increase in the value of assets is-
Assets A/c Dr.
To Revaluation A/c
(Being increase in the value of assets is recorded)
(ii) The Journal Entry to record decrease in the value of assets is-
Revaluation A/c Dr.
To Assets A/c

(Being decrease in the value of assets is recorded)



Similarly, if there is an increase in the amount of a Liability, Revaluation Account is debited
and the concerned liability account is credited. And conversely, if there is a decrease in the
amount of liability, the related liability account is debited and Revaluation Account is
credited.

(iii) The Journal Entry to record increase in the value of liabilities is-

Revaluation A/c Dr.
To Liability A/c
(Being increase in concerned liability is recorded)
(iv) The Journal Entry to record increase in the value of liabilities is-
Liability A/c Dr.
To Revaluation A/c

(Being decrease in concerned liability is recorded)

If partners desire to make a provision for some probable losses in future, such as Provision
for Doubtful Debts or contingent liability is credited and Revaluation Account is debited.

(v) The Journal Entry to record increase in the value of provision is-

Revaluation A/c Dr.
To Probable Provision/c
(Being increase in concerned provision is recorded)
5) The adjustment with respect to Adjustment for Unrecorded Assets and Liabilities:

There may be some unrecorded assets or liabilities at the time of retirement or death. Such
unrecorded assets and liabilities must be recorded into books of accounts through the
Revaluation Account.

If there is an unrecorded asset at the time of retirement or death, such asset is Debited and
the Revaluation Account is credited. Due to such recording all the partners of the firm get
benefits as their capital accounts is credited through Revaluation Account.

(vi) The Journal entry to record unrecorded assets is-
Unrecorded Assets A/c Dr
To Revaluation A/c

(Being unrecorded assets recorded in the books)



Similarly, if there is an Unrecorded Liability, Revaluation Account is debited and the
mentioned liability account is credited. Due to this, the capital accounts of all the partners
gets debited through the Revaluation Account. The asset or liability so recoded into books of
accounts are shown in the Balance Sheet.

(vii) The Journal entry to record unrecorded liabilities is-
Revaluation A/c Dr
To Unrecorded Liability A/c
(Being unrecorded liability recorded)

The Net Gain or Loss on Revaluation is divided or shared amongst all the partners in their
old ratios. If there is Gain or Profit on revaluation, Revaluation Account is debited and all
the partners' capital accounts is credited.

(viii) The Journal entry to record Revaluation Profit is-
Revaluation A/c Dr.
Old Partner’s Capital A/c.
(Being Revaluation Profit shred in old ratio)

In the case of Revaluation Loss, the All Partners Capital or Current A/c is Debited and
Revaluation A/c is Credited. The Revised Values of Assets and Liabilities are shown in the
new Balance Sheet, prepared after the retirement or death oi the partner.

(ix)  The Journal entry to record Revaluation Loss is-
Old Partner’s Capital A/c Dr.
To Revaluation A/c.

(Being Revaluation loss shred in old ratio)

6) Adjustment for Accumulated Profit or Loss on retirement or death:
Qg a1 9 IR Hferd Y a1 g1 BT JHr™S

Sometimes the books of a partnership firm may show some accumulated profits that are in
the forms of credit balance.

1. The Accumulated Profits Includes:
a) Profit and Loss, and
b) General Reserve other Reserve:

Such accumulated profits should be distributed amongst all the old partners including the
retiring or deceased partner in their old profit-sharing ratios.



The General Reserve Account and or Profit and Loss Account should be Debited and all the
Partners' Capital Accounts including the retiring or deceased partner should be credited in
their old profit-sharing ratios. The Journal entries to record distribution of Accumulated
Profits is:

Profit & Loss A/c...... Dr.

General Reserve A/c....Dr.

Other Reserve A/c...... Dr.
To Partners” Capital A/c

Example 6. A, B and C are partners in the ratio of 3:2:1 and their books show a Profit and
Loss- Rs. 18,000 and General Reserve Rs. 15,000. When C retires or dies, show the division of
P/L and Reserve among them.

Solution.

Profit & Loss A/c Dr. 18,000
To A's Capital A/c 9,000
To B's Capital A/c 6,000
To C's Capital A/c 3,000

(being Profit distributed among the all partners in old ratio)

General Reserve A /c Dr.15,000
To A's Capital A/c 7,500
To B's Capital A/c 5,000
To C's Capital A/c 2,500

(Being General Reserve shared among the all partners in old ratio)

If there are other reserve like Workmen Compensation Fund/Reserve or Investment
Fluctuation Reserve, the excess of such reserve over any requirement (contingent liability) is
also divided/written of among partner all partners including outgoing one in their old profit
-sharing ratio.

Example 7. Workmen Compensation Fund in -15,000. Due to accident amount payable to
workmen is only Rs.5,000. Assuming that A, B, C were equal partners, Distribute WCF
among the partners.

Solution.
Workmen Com. Reserve A/c Dr.10,000
To A's Capital A/c  3,333.66
To B's Capital A/c  3,333.33
To C's Capital A/c  3,333.33



(being workmen compensation fund not required distributed in all partners)

Normally, we find accumulated profits in the Balance Sheet of a firm. It is very rare that
accumulated losses are carried over to subsequent accounting periods in the cases of
partnership firms. But we cannot rule out possibility of such a situation.

2. The Accumulated Loss Includes:
If there are any accumulated loss appearing in the books of a firm in the form of

a) Profit & Loss (Debit Balance)
b) Preliminary Expense or Preoperative Expense and
c) Advertisement Suspense account

These accumulated losses are divided amongst all the partners including the retiring or
deceased partner in their old profit-sharing ratios. It is written off by debiting their capital
account and crediting the Profit & Loss, Preliminary Expense, or Advertisement Suspense
accounts. The journal entry is:

Partners' Capital/Current A/c Dr.
To Profit & Losses
To Preliminary Expenses
To Advertisement Suspense A/c
(To write off accumulated loss among all partners in old PSR)

Example 8. X, Y and Z sharing Profit and losses in the ratio of 2:2:1 have Profit and Losses
(Debit Bal.) Rs. 20,000 and Preliminary Expense of Rs. 10,000. C retires, show the adjustment
of Profit /Loss (Debit Balance) and Preliminary Expense.

Solution.
X's Capital A/c Dr. 8,000
Y's Capital A/c Dr 8,000
Z's Capital A/c Dr. 4,000
To Profit and Loss-20,000
Being Losses divided among all partners in old PSR.
X's Capital A/c Dr. 4,000
Y's Capital A/c Dr 4,000
Z's Capital A/c Dr. 2,000
To Preliminary Expense -10,000

(Being Preliminary expenses written of among all partners in old ratio)
7) Payment to the Retiring Partner

When a partner retires from business, his claim against the firm is determined by preparing
his capital account by taking into account all the adjustments in respect of his share of
Goodwill, Accumulated Profits or Losses; Profit/loss on Revaluation of assets and liabilities



etc. Then, the settlement of the claim depends on the provisions of the partnership deed. If
nothing is given in the problem to be solved in respect of settlement of claim, the amount of
claim is usually transferred to the Retiring partner's Loan Account for which the following
entry is passed

Retiring Partner’s Capital A/c Dr.
To Retiring Partner's Loan A/c
(Being retiring partner’s capital transferred into loan)

A) Payment of Full Amount Due: If the full amount of claim is payable to the retiring
partner on the date of retirement as per agreement, the amount is not be transferred
to Loan Account but will be paid in cash or by cheque. The necessary entry for paying
in full is:

Retiring Partner’s Capital A/c Dr.
To Cash / Bank A/c
B) Payment of the Amount due in Equal Instalments Plus Interest on Unpaid Balance
Sometimes the partners decide to pay the outstanding amount of claim after initial
payment in equal instalments plus interest on unpaid balance added thereto at
regular interval. The necessary entry for paying in such way is:

When Interest becomes due on unpaid balance

a) Interest Expense A/c .....Dr.
To Retiring Partner’s Loan A/c

When instalment including interest is paid
b) Retiring Partner’s Loan A/c
To Cash /Bank A/c

Retirement Based Questions

Example 9. A, B and C are three partners sharing profits in the ratio of 4:3:2 respectively. On
Dec.31, 2019, C retires from the firm and his Capital is Rs.20,500 Cr. balance. On this date

1) The goodwill of the firm is valued at Rs 36,000.
2) There is Profit Loss Balance of Rs. 45,000.
3) There is revaluation of assets and liabilities as follows.
(@) The Land and Building has appreciated by Rs.15,000;
(b) Plant and Machinery has depreciated by 10,000,
(c) One Debtor A/c earlier written of informs that he will pay the firm Rs.5,000
(d) There is an unrecorded typewriter of Rs. 3,000 and
(e) An unrecorded liability for credit purchase of goods for Rs. 4,000.

The Partners have decided to pay C Rs.10,500 immediately and remaining balance is
converted into his Loan. The Loan is to be paid in 3 equal quarterly instalments plus interest
@10% per annum. The first loan instalment will be payable in March. 31, 2020.

Assuming that A and B agree to share future profits in the ratio of 1:1 respectively.



1) Show calculation of gaining ratio and C’s share in goodwill

2) Pass necessary journal entries to record above transactions and to credit retiring
partner with his share.

3) (a) Prepare Revaluation Account and (b) Retiring partner Capital account.

Solution.

1. Calculation of Gaining Ratio
Gaining Ratio (G.R) = New Ratio - Old Ratio
Share Gainby A=1/2-4/9=9/18-8/18 =1/18
Share Gainby B=1/2-3/9=9/18 - 6/18 = 3/18
So, the Gaining ratio of A and B is 1:3.
C’s Share in Profit = 45, 000 x 2/9 = Rs. 10,000
C’s Share in Goodwill =36, 000 x 2/9 = Rs. 8,000

2. Journal Entries to record the transactions

Date Particulars Debit Credit
Dec.31 A’s Capital A/c 2,000
B’s Capital A/c 6,000
To C’s Capital A/c 8,000
Being Goodwill Adjusted in G.R.
Dec.31 Profitand Loss A/c 45,000
To A’s Capital A/c 20,000
To C’s Capital A/c 13,000
To C’s Capital A/c 10,000
Being Accumulated Profit written off
Dec.31 Revaluation Account Dr 14,000
To Plant & Machinery A/c 20,000
To Creditor A/c 4,000
Dec.31 Land & Building A/c 15,000
Debtor A/c 5,000
Typewriter A/c 3,000
To Revaluation A/c 23,000
(Being increase in assets cr. to Reva/c
Dec.31 Revaluation Profit A/c 9,000
To A’s Capital A/c 4,000
To B’s Capital A/c 3,000
To C’s Capital A/c 2,000
Being Rev. profit distributed in 4:3:2
Dec.31 C’s Capital A/c 40,500
To Cash A/c 10,500
To C's Loan A/c 30,000

Being cash paid & Bal. Conv. in loan



3. (a)
Revaluation Account

Particular g Particulars g
To Plant and Machinery 10,000 By Land & Building 15,000
To Creditors 4,000 By Debtor 5,000
To Rev. Profit transferred to By typewriter 3,000
A’s Capital A/c 4,000
B’s Capital A/c 3,000
C’s Capital A/c 2,000
23,000 23,000
3. (b) C’s Capital Account
Particular g Particulars g
To Cash 10,500 By Balance b/d 20,500
To C's Laon A/c 30,000 By Profit & Loss 10,000
By Revaluation 2,000
By A’s Capital 2,000
By B’s Capital 6,000
40,500 40,500
Example 10.

A, B and C are partners in a firm sharing P/L in the ratio of 2:3:1 respectively. C retires from
the firm on Mar. 31, 2020, subject to the following conditions.

(a) Goodwill of the firm is valued and to be shown in the book at Rs. 24,000.
(b) Machinery to be depreciated by 20% and Furniture by 10%

(c) Stock Price has appreciated by 25% and building by 20% and

(d) Provision for doubtful debts to be raised to Rs. 2,500.

The Balance Sheet of the firm as on Mar. 31, 2020 was as follows.

Liabilities g Assets g
Provision for Doubtful Debt 1,000 | Land 30,000
Creditors 50,000 | Building 70,000
Bank Loan 30,000 | Machinery 80,000
General Reserve 32,000 | Furniture 20,000
A’s Capital 60,000 | Debtors 36,000
B’s Capital 80,000 | Stock 50,000
C’s Capital 50,000 | Cash 17,000
3,03,000 3,03,000

Prepare necessary accounts (Rev. A/c; Partners’ Cap. A/c) a and Balance Sheet of the firm.



Solution.

Revaluation A/c

Particular g Particulars g
To Machinery 16,000 By Building 14,000
To Furniture 2,000 By Stock 12,500
To Provision for D/D 1,500 By typewriter 3,000
To Rev. Profit transferred to
A’s Capital A/c 3,333
B’s Capital A/c 5,000
C’s Capital A/c 1,667
29,500 29,500
Partners’ Capital Account
Particulars A B C Particulars A B C
To C’s Loan 61,000 By Bal. B/d 60,000 | 80,000 50,000
To Balance ¢/d 82,000 1,13,000 By Gen. Reserve 10,667 | 16,000 5,333
By Goodwill 8,000 | 12,000 4,000
By Revaluation | 3,333 | _5,000 1,667
82,000 1,13,000 | 61,000 82,000 | 1,13,000 | 61,000
Balance Sheet as on Mar. 31,2020
Liabilities g Assets g
Provision for D/ Debts 1,000 Goodwill 24,000
Add: Increase in DD- 1,500 2,500 | Land 30,000
Creditors 50,000 | Building (70,000+14,000) 84,000
Bank Loan 30,000 | Machinery (80,000 -16,000) 64,000
C’s Loan 61,000 | Typewriter 3,000
A’s Capital 1,13,000 | Furniture (20,000 - 2,000) 18,000
B’s Capital 82,000 | Debtors 36,000
Stock (50,000 + 12,500) 62,500
Cash 17,000
338,500 3,35,500




